Multiplying a Whole Number by a Power of Ten

Name: Class:

Solve the following problems.

35 x 100 = 12 x 10 =
35 x 10 = 12 x 1,000 =
35 x 1,000 = 12 x 100 =
20 x 10 = 28 x 1,000 = 14 x 100 =
20 x 100 = 28 x 100 = 55 x 1,000 =
20 x 1,000 = 28 X 10 = 60 x 10 =
16 x 10 = 21 x 1,000 = 30 x 100 =
16 x 100 = 21 x 100 = 40 x 10 =
16 x 1,000 = 21 x 10 = 30 x 1,000 =
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Answers

Solve the following problems.
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= 3,500

= 350

= 35,000

= 200

= 2,000

= 20,000

= 160

= 1,600

= 16,000

copyright:

12

12

12

28

28

28

21

21

21

X

10 = 120
1,000 = 12,000
100 = 1,200
1,000 = 28,000
100 = 2,800
10 = 280
1,000 = 21,000
100 = 2,100
10 = 210
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